Plattform / Platform
80 **x x, 81 *¥x »

Alter/age

o

rolly toys Kundendienst Deutschland:
Tel: +49 (0) 95 68 / 856-142

Fax: +49 (0) 95 68 / 856-183

e-mail: service@rollytoys.de

®

M

Pa(‘ "o*e

2011/06

810.000.800.00

286 000 006 80

001 003 000 80

212000 124 80
212015002 80

201 011 001 80

330 x120 - 12M

~

386 011 001 80

~

1 So
! S~ --386 017 000 00
212 000 015 80 ‘\G"P S~

386 002 001 80

052 210520 00 — .

386 016 002 00

001 000 505 80

Q M5 x 30

G@ZOX 210,51

1X

1B

1Xx

1x 1Il\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\

25

O

M5

c 2N

i ~OD

[
[
0
(met

risch e metric)

001 000 013 80

B made
in
Germany

T

<
%

&9
“%d

\ \

10
P 4o
Q) b

[

(N

N\
©\§

=

.

100012300012

SERVICE
00,1

| 00012300012

=

20
—
Bgf:oqe
3
[SERVICE|

4@
="

Franz Schneider GmbH & Co KG
P.0.Box 1460

D-96459 - Neustadt bei Coburg - Germany
Tel.: +49 (0) 95 68 / 856-0

Fax.: +49 (0) 95 68 / 856-190
www.rollytoys.com



0@ - O
M5x30 @5 Ms

- 3 . -
L g

®

1); 210 mm x 476 q
©

---NORTH &SOUTH AMERICA only---

180
warranty

From the date of purchase +
guaranteed spare part service

The warranty does not cover dammages
caused by improper use or neglect

IR AR
@2 P ixx
@»

386 002 000 00

800 010 000 00

286 000 080 80

670 000 082 80 918 000 012 80

AWARNING

e CHOKING HAZARD: Small parts.
Danger of being swallowed.
Contains small parts in
non assembled state.

Must be assembled by adults.

e Adult supervision required.

¢ Never use near steps, slopes,
driveways, hills, roadways,
alleys or swimming pool areas.

e Always wear shoes.

¢ Never allow more than one rider.

e The use of protective gear and a
safety helmet is highly
recommended.

e Conforms to the requirements of
ASTM Standard Consumer Safety
Specification on Toy Safety, F 963

e Not suitable for children
under 3 years.



@
)
B> \cOoi®
o/‘ <
FD)
rolly toys Kundendienst Deutschland:
Tel: +49 (0) 95 68 / 856-142 ©
Plattform / Platform Fax: +49 (0) 95 68 / 856-183 =
80 **x *, 81 xxx * e-mail: service@rollytoys.de 2 81 0.000.801 .00

,_’ -
+10 ® 426 © +47
+12 @130 © 451
+13 +37 @ 154

Q T 001 000 103 ** ®120 ©+40 +70

| A |

o

®:22 O 41 +75
/10[ T | ®+23 ®.:44 @80

004 000 109 **

001 000 109 **

286 000 022 **

286 000 021 **

A @540 B Mo
x 17 P> c‘,‘,\l
— @iwm zx@mmmmmw

in Franz Schneider GmbH & Co KG
} ‘ ‘ ‘ ! ‘ | P0.Box 1460
Germany 0 10 20 30 20 50 60 70 mm D-96459 - Neustadt bei Coburg - Germany

Tel.: +49 (0) 95 68 / 856-0
Fax.: +49 (0) 95 68 / 856-190
www.rollytoys.com

(metrisch e metric)




Hardware Bag for Backhoe

932.017.00.00

LA J—
1II\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\|

1X

o <[\\\\\\\\\\\\\\X\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\

1X

il

il

el

1X

it

G @4 x17
N @;ﬁm

“O'D
‘om

220x2 6,4x1,25

o

1X

[

\

0 10 20 30 40 50 60 70
(metrisch e metric)

---NORTH &SOUTH AMERICA only---

180
warranty

From the date of purchase +
guaranteed spare part service

The warranty does not cover dammages
caused by improper use or neglect

P e 4
@rS3] xx
@V
ORI
ANy

AWARNING

¢ CHOKING HAZARD: Small parts.
Danger of being swallowed.
Contains small parts in
non assembled state.

Must be assembled by adults.

o Adult supervision required.

¢ Never use near steps, slopes,
driveways, hills, roadways,
alleys or swimming pool areas.

¢ Always wear shoes.

¢ Never allow more than one rider.

* The use of protective gear and a
safety helmet is highly
recommended.

e Conforms to the requirements of
ASTM Standard Consumer Safety
Specification on Toy Safety, F 963

rollyHeckbagger

Alter/age

3%

rolly toys Kundendienst Deutschland:
Tel: +49 (0) 95 68 / 856-142

Fax: +49 (0) 95 68 / 856-183

e-mail: service@rollytoys.de

2011/04

N

Pa(‘ ,cp‘le

932.000.800.00

—) Fk
+10
+12
+13

® +22

®+4

® +80

932 000 059 80

[932.000.068.75R |

)
- %
-
b

4""
N\
9

[032.061.001.41]

2 O

932 000 065 75

I THXX

[932.000.067.41

932.063.002.41

"~ _~""932.000.066.12

932 000 005 80

932 000 007 **

932 000 070 75

932 000 006 22

.0 @ [932.063.001.41
>

3

B made
in

Germany

™ =

¢ @

S NN

00012300012 00012300012 SERVICE

q@
B>

Franz Schneider GmbH & Co KG
P.0.Box 1460
D-96459 - Neustadt bei Coburg - Germany

Tel.: +49 (0) 95 68 / 856-0
Fax.: +49 (0) 95 68 / 856-190
www.rollytoys.com


parts
Text Box
Hardware Bag for Backhoe
932.017.00.00

parts
Text Box
932.000.068.75R

parts
Text Box
932.000.068.75L

parts
Text Box
261.000.007.12


parts
Text Box
932.000.066.12

parts
Text Box
932.063.002.41

parts
Text Box
932.063.001.41

parts
Text Box
932.000.067.41

parts
Text Box
932.061.001.41

parts
Text Box
932.061.002.41


1X(,G;::::::::; (o ) 1ﬁbq;:;"(3

M6 x 70 M6 M6x20 @20

Qg= Ogp

1x M6 x 16 M6

2009/10



Alter/age

o

38

rolly toys Kundendienst Deutschland:
Tel: +49 (0) 95 68 / 856-142

Fax: +49 (0) 95 68 / 856-183

e-mail: service@rollytoys.de

2011/06

933.000.800.00

001 000 059 **

907 000 010 00 \\/

|
Y 4

X 296 000 171 80

o " : \ Il
0
& ; G/
100 106 760 00 ; »
001 060 000 ** ; \
h ¥
o

001 060 001 80
P\

296 007 883 80

001 060 063 **

161 411107 80 499 060 018 80

201 011 001 80

599 060 005 **

499 000 010 00

I P4xx

001 019 000 00

o
:’ 4‘
A \

% ®<
42

o |
/‘ '\ 4 s | ;t | i/
A 499 060 012 00 499 060 021 ** ol
6 (e
O, - O O ow
o iy o, (i o< O [ | |5 5= 5

O ¢

&)

0 10 20 30 40 50 (metrisch e metric)
mm
- - o - , .
3 @ &9\ Mo
oA T o= | | D By iol
@,
. made \ \ \ \ J .
- ——————— r — Franz Schneider GmbH & Co KG
in o @:\ SERVICE 9 b ‘.o\;:“e P.0.Box 1460
N\, A < D-96459 - Neustadt bei Coburg - Germany
Germany O;g ;E% E J Tel.: +49 (0) 95 68 / 856-0
(00012300012 (00012300012) | (SERVICE]

Fax.: +49 (0) 95 68 / 856-190
www.rollytoys.com



1x

@8 x 345mm

-Go 0®

28,4 24 M8

---NORTH &SOUTH AMERICA only---

180
warranty

From the date of purchase +
guaranteed spare part service

The warranty does not cover dammages
caused by improper use or neglect

0# ~\
®»
O,
A

AWARNING

¢ CHOKING HAZARD: Small parts.
Danger of being swallowed.
Contains small parts in
non assembled state.
Must be assembled by adults.

e Adult supervision required.

¢ Never use near steps, slopes,
driveways, hills, roadways,
alleys or swimming pool areas.

e Always wear shoes.

¢ Never allow more than one rider.

¢ The use of protective gear and a
safety helmet is highly
recommended.

¢ Conforms to the requirements of
ASTM Standard Consumer Safety
Specification on Toy Safety, F 963

eNot suitable for children
under 3 years.






